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P-1I

IMPORTANT : Candidates have to do questions
31 to 90 EITHER from Part - II (Mathematics
and Science) OR from Part - I1I (Social Studies /
Social Science).

wEvqol : gelemieal &t wew 31 W90 ar & wer - 11

(T T fawm) ar srr - 1 (A sreaaT /
wrTloTEs faaT) @ v & 1

PART - II/ WU - I
MATHEMATICS AND SCIENCE / TTftTe & fasm=

Directions : Answer the following questions
by selecting the most appropriate

fdw . wadt sfam faew gaw Frfefas weet

. % I T |
options.
31. Ifa=3129 5128722 31. affa=312 x 5128722
b = 3128 x §129 » 721 b = 3128 5 5129 3 721
c=3127x 5129 x 723 and o = 3127 3 5129 5 723 air
H.C.F.ofa,b,cand dis: s T T
(1) 3177 x 5128 5 722 a, b, cTd=waH (HC.F) ¢:
(2) 3128 x 51285 721 (1) 3127 x 5128 % 72
(3) 3128 X 5129x721 (2) 3128)< 5128x721
(4) 3127 X 5128 % 721 (3) 3128 % 5129 % 721
(4) 3127 % 5128 % 721
32. The value of 3~2300 x /5290 is : 3. Y3300 x Fo0m A
-
3) -270 ) -529
@) 230 @) =270
4 230
aybe pr be
33. Thevalueof%;%’wherea:%b:i& 33. wafFa=2,b=33Tc=0 i‘,?ﬂ’(%,));
andc=0,is: HHRENE?
1 1 (I 1
@ 0 2 0
(3) '2'1 @) 4
£ 2
@ 3 @ 2
SPACE FOR ROUGH WORK / T% %14 & fow se
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P-II
3.

3s.

36.

37.

The value of
44 404 444 4

4+70*700* 7000 * 10,000 5 *

(1) 12.8224
(2) 12.8944
(3) 12.8844
(4) 12.8804

The smallest value of ‘y’ in the
number 9y8071 so that it is divisible
by 1lis:

(1 1

(2)
(3
4)

w o

(1496 x 10 - (3.84 x 10% is
expressed in standard form as :

(1) 14921.6 x 10°
(2) 149216 x 100
(3) 1492.16 x 108
(4) 1.49216 x 10!

The sum of mean, mode and median
of the data

6,3,951,2,3,6,51,3
is:

(1) 10
2 11
3) 12
@ 13

(11)

34,

3s.

36.

3.

U
44 404 444 4 .
4+70*1700* 1000 * 10,000 T T E

(1) 12.8224
) 12.8944
3) 12.8844
@) 12.8804

& 9y8071, 11 ¥ fvrew gt afy ¢y
A AAE

(1 1
2 o0
3 2
4 3

(14.96 x 10'%) - (3.84 x 10%) =t A"
wﬁﬁwmmﬁmm%:

(1) 14921.6 x 10°

(2) 14.9216x10'0

(3) 1492.16 x 108

4 1.49216 x 10!

Af%ei 6,3,9,5,1,2,3,6,5,1,3

% T, AgeTE AT AT HTATE
(1) 10
2 11
3) 12
@ 13
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38.

39.

40.

Natural numbers 4 to 15 are written
on different slips (one number on one
slip), kept in a box and mixed well.
Renu picks up one slip from the box
without looking into it. What is the
probability that this slip bears a prime
number ?

o 2
® =
® 3
@ 3

A sum of money amounts to T 4,818
after 3 years and ¥ 7,227 after 6 years
on compound interest. The sum is:

(1) T2,409
(2) T2,490
(3) w3122
4) 3,212

If the weight of 18 sheets of paper is
50 grams, how many sheets of the

3
same paper will weigh 33 kg ?
(1) 1350
2) 1314
(3) 1386
(4) 1836

(12)

38.

39.

40.

P-II
fafirer ufiral 7T 4 | 15 7% WP HEAT
%@géﬁcqasﬁﬁwqwﬁmn,ﬁ
Ta ¥ ST west wer ¥ fren T
T Y TR S A @
it frmrerh & | 39 Ul OT WIS WEA

fore ¥R W T U ?
1 %
® &
® 3
@ 3

TF GRR WHgfE E BN 3 st &
qveTa T 4,818 3 6 T€ & wvEw X 7,227

T ATt '%‘,'ﬁ?ﬂ‘ﬂlﬁ\'i':

(1) T2,409

2) 2,490

(3) 3,122

@) T3212

IR @ 18 et @ 9w 50 AW, |
et wrTe Ft et wiiet 1 W s%ﬁsm
T ?

(1) 1350

(2) 1314

(3) 1386

4) 1836

SPACE FOR ROUGH WORK | TE HE % [0 T
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41.

42.

43.

x-2 2x+3
3 *t72
value of 5x4_2is:

7
If =X+ 6 then the

D 12

2

3
® 3

-1
@ I

If 4x? + 12xy - 8x + 9y2 - 12y
= (ax + by) (ax + by - 4),

then the value of a% + b2 is :

1 5

(2) 10

3) 13

4) 25

In the product of (5x + 2) and
(2x* - 3x + 5), the sum of the
coefficients of x and x is :

(1)
@ 8
3 9
)

.conml

(13)

41.

42,

43.

U
3x-2 2c+3 7 5x-2
ofy T * 3 =x+6%,a’r 2

HHAE
1
O 15
-1
@ 73

@ I

i dx? + 12xy - 8x + 9y2 - 12y
= (ax + by) (ax + by - 4)

L, mal+h@wrAm

1 s

2) 10

(3) 13

4 25

(5x + 2) 3T (2% - 3x + 5) F UEEA

x* A x Q?‘Tlﬁa-ﬁ HARTE
(™ ==

2 8

3 9

4) -8
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g c

45.

46.

The internal base of a rectangular box

is 15 cm long and 12% cm wide and its

height is 7';' cm. The box is filled with

cubes each of side 2% cm. The number

of cubes will be :

() 45
2 60
3 90
4 120

The perimeter of a trapezium is
58 ¢m and sum of its non-parallel
sides is 20 cm. If its area is 152 cm?,
then the distance between the parallel
sides, in cms, is :

(1) 6
2) 8
(3) 98
@4 152

The measure of each interior angle of
a regular convex polygon is 156°. The
number of sides of the polygon is:

(1 15

2 12
3 10
4 8

(14)

45.

46.

P-II
frdl AATET TEE W AARD AR

15%@&112%#&%%&1

o S T R R

Feft e AT T A AT AT R | A
e R

(1) 45

2 60

(3) 9

4) 120

frdht waem w1 oRE 58 Wt ¥ ST
Faal SrwiET SENS W FwEgat B A
20 At & | TR T GEEe 152 T,
it i et A g, AR A
1 6

2) 8

3) 98

@ 152

forelt T T TR & TS BT B
AT 156°F | TEYT B Y Bl WA ¢
(1 15

2 12

3) 10

4 8
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47.

49.

If the number of sides of a regular
polygon is ‘n’, then the number of

lines of symmetry is equal to :
n

m 3

@ o’

(3) 2n

4 n

The sides of a triangle are 6.5 cm,
10 cm and x cm, where x is a positive
number. What is the smallest possible
value of x among the following ?

(1) 45

(2) 28
3) 45
4 4

Chhaya simplified the given rational

-25 5
number 30° "6

This error can be considered as :
(1) careless error

(2) conceptual error

(3) procedural error

(4) error due to wrong interpretation
of problem

(15)

47.

49.

U
Ay T THEGYS B WA B T n’
¥, o T wwhe YEel @t ven e
t:
G g
2y n?
(3) 2n
4 n

Peft Brgor =t ot 6.5 9, 10 /% ol
x 9t &, wet x ww aerers WE | P

H R x W A ST R
(1) 45

(2 28

) "85

4 4

BT 7 &t 7 uftdy G Bt tw vww T
=25__5
-30° 6

T SR B R H WA AT W

(1) T g

(2) WS I

(3) U e

(4) THE H AF W T IR F w0
Ec3
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50.

51.

52.

93

‘Data Handling’ at upper primary

stage focuses on :

(1) data collection, organization and
interpretation

(2) data interpretation only

(3) data organization only

(4) techniques of data collection

Which one of the following is not a
Problem  Solving Strategy in
Mathematics ?

(1) Trial and Error

(2) Drawing

(3) Solving backwards

(4) Rote learning

According to Piaget, when the child is
at formal operational stage, it is
appropriate to introduce :

(1) . Ratio and Proportion
(2) Data handling

(3) Numbers

(4) Geometry

Read the following problem given in a
textbook for class VII :

“A map is given with a scale of

- 2 cm = 1000 km. What is the actual

distance between two places, in kms, if
the distance on the map is 2.5 cm ?
This problem is : '

(1) Interdisciplinary in nature

(2) Investigatory in nature

(3) based on higher order thinking skills
(4) to enhance problem solving skills.

(16)

50.

51.

52,

53

P-II
Ieg WrufaE WY uT ‘aifwEt % wEaaw w5
FEEAL
(1) Fiwet 1 9e, W 3R vfe
(2) SHTHE! H HaeT TR
(3) oiREl #1 FaeT WA
(4) ITHE F THET B B S

o & WERT & wHET @ et
AR B AT AR &2

(1) wdeor 3R 3 faf

(2) TemiEEA

(3) 3T W AWT FI AT EFA HEAT
4) A

frarst (Piaget) & FEW, W& aww
dAoafis aftaes @7 o gar & &t
aftea 3 % JgE wHa ¥

(1) e 3 FHr

(2) SirHSt & yEeA

(3) wemt
4) TEmfE

FE1 VII # Uga-gE® ¥ §f e
Frrfofas waer w5t ufge :

‘g wHras fear mr ¥ e darr
2 9t = 1000 fEsh, ¥ | aft aafe & ot
W 2.5 Wt @t gH o E, A o1 dre
Tt gh wmv e

TE AT

(1) sicfawt ya

(2) SFRUETTES TFH H

(3) = R fHe= Pl o smnfa
(4) TTE-HHYE F DI F 921 B
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54.

55,

56.

Which one of the following is not a
Mathematical process ?

(1) Visualization
(2) Estimation
(3) Memorisation

(49) Measurement

According to NCF 2005, school
Mathematics takes place in a situation
where :

(1) mathematics is part of children’s
life experience.

(2) children are forced to learn all
concepts by daily practice.

(3) children are listeners and the
teacher is an active narrator.

(4) children are involved in chorus
drill of formulae and pressure of
performance in examination.

In class VI, teacher gave a topic for
debate as Formative Assessment (FA)
task.

“Hindu-Arabic numerals are more
powerful than Roman Numer M

Objective of this FA activity is to
assess :

(1) Knowledge
(2) Analysis

(3) Creativity

(4) Understanding

17

54.

55.

56.

U
frafafas & ¥ SR nfve wBea
TEE?

(1) WER FHeaT HE |
(2) 3FHEE AT

(3) S HT |

(4) T

e wrgEeEt W wwE (@ § )

2005 & sqaw, fraew § nfe

uffeafat # gaen & wate

(1) T Fe % e & T w
femm 81 T |

[®) ¥F g ¥ oFEE HOW

Tt @ & fog famer fe

o |
3) aﬁ@%@?mmﬁ

R FATE
4) T TF qY G W A W §
#AT 37 W T F WEEH &
=T B € |
e VI 8§, ST A RS (Bitea)
W(FA)w%mm-ﬁmm
forea e

figoifas W, W weat @
St wwTEeTE §

FA % T9 Ghameeny w1 YT e
HATE:

(1) TSR &l

(2) favcisoTeHEsar

(3)  TEARHEST B

(4) TEAEH
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U

.

58.

In a Mathematics classroom,
emphasis is placed on :

(1) mathematical content

(2) mathematical content, process and
reasoning

(3) problem solving strategies

(4) mathematical algorithms and
processes

A teacher gives the following problem
related to ‘discount’ to the students
for solving.

“The Marked Prices (MLP.) of a shirt
and sweater are ¥ 200 and ¥ 300
respectively, and the discounts on the
marked prices of shirt and sweater
are 20% and 12% respectively. While
preparing the bill, the shopkeeper
interchanged the discounts on these
items by mistake. On getting the bill,
Hamida noticed the mistake and paid
the actual amount to the shopkeeper.
How much money did Hamida pay to
the shopkeeper ?”

What value does the teacher try to
promote through this problem ?

(1) Compassion
(2) Honesty

(3) Co-operation
(4) Sympathy

(18)

P-II
57. TfoTe % wu-we W Wew TR e

(1) Tforer fawg o
(2) T T, wiear ot a8 W
(3) wEE GEMF F g )

4) T wemRen  (afees wREAn)
T yoTelt W

58. oams X frofamt &t a8 @ W
I Frefafaa arar @ wE & e
LiF

soep WIS AT QT & it 900 (M.P.)
TR T 200 3T T 300 ¥ AW ww T
T U /T HE: 20% T4 12% ¥ |
farer daw FR WET e W THEER A
T T ¥ aF B IgenaEe HC A |
faer firer uT TiET A 3W el W odEn
i gerET w5t 3w qea R | wiEr R
THTER Y et war &t 2

T uvw ¥ firere fem et @t wiewed
HA BT AAE AT ?

(1) Eag=eier
@) e
(3) WEmRE
4) wEEH
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59. The difference between the greatest
and smallest fraction amongst

M 7

2) 3¢

g

@ &

60. The additive inverse of S, where

S=1-2+3-44+5-6+7-8+
........ +49 - 50, is :

(3) -25

@ 1

(19

59.

U

68 9 7
:,"E’E’Eﬂ‘ﬂ‘maﬂﬂﬁa‘hm

B fire =t afee
™
(2) 3¢
@ 35

@ &

S=1-2+3-4+5-6+7-8

# aosibi +49 - 50, S W1 gt wfrEnT ¥
(10

()" "2%

(3) -25

4 1
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Downl oaded From : http://cbseportal . cont

Courtesy : CTET



http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

U (20)

61. How could learning be made more 61.
meaningful for students of class VII by
the teacher while teaching the topic
‘Save Water’ ?

(1) Asking students to design posters.

(2) Asking students to write an essay.

(3) Asking students to interview
people in their colony about water
consumption and carry out ‘Water
Audit’.

(4) Conducting a quiz competition.

62. A teacher before beginning to teach 62.
‘digestion’ to class VI students
provides them with the outline
diagram of a human body and asks
them to draw all parts, through which
they think the food would travel from
mouth when they eat.

What could be the teacher’s purpose

of asking this question ?

(1) To evaluate students’ drawing
skills as drawing diagrams is an
important skill in life sciences.

(2) To judge students’ understading
of the digestive system and grade
them accordingly.

(3) To investigate students’ prior
ideas related to human body and
digestion so that future teaching
learning  sessions can  be
accordingly planned.

(4) To find out which students have
read the topic in advance and
come prepared for the class and
grade them accordingly.

63. For an effective discussion in class VII 63.
on the topic, “Why smoke rises up ?”
a science teacher should :

A. discourage questions during
discussion.

B. provide a common platform to
the learners.

C. acknowledge learners’ responses
to sustain their interest.

D. summarise and assess the
learner’s ideas at the end of

discussion.
(1) AandB (2) B,CandD
(3) Denly 4 CandD
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fres g e VI % Feat @ ceur
TarEy g ov i wt R e

e aTofe ST AT EHATE 2
(1) O e W
() - Trey forgar s

(3) =41 S U F @O W AT o
F N T GEIEHRT qdl S-S
T F

(4) TR Wi HXE #

e VI % frenfaat &t are WaEe |
T TF NS I AT IR H
mhmimtir R st wa =
vt 3 = fafe =t e e %
R & sl 398 TR F TE R Y |
W U W gEA % T e @
Ry THEAL?

(1) Tt # Yo s S % w
W, Fite e fawe J e
FHMT UF HeEweqol BV & |

(2) R dE % aR H feenfeEt w www
F WHIN AR TEIER
SUTHTOT AT |

(3) WS WR R ueH ¥ ar H
fefoat % q@ foemi = uga
T At Reor e w s &t
FeE Frifre foram < &% |

4) e w6 TR el ¥ weet ¥ U
TgT I & 3 FN § AR FEH A

T FETER AT HUEHT HEAT |

T 7 F TF @R gt FuT wh

aar T 7 ¥ awrEeTel =t % e o

ﬁ!ﬁm‘ﬂ-ﬁ:

A, ol & <R W U g e |

B. weEl @ UH WA WY AT AT |

C. w=at # sy Fw @R % e
T ufatemet ® @R
=T |

D. Wt % o ¥ gwat & faawt =
ARTY T T B HAT AT |

(1) A3RB (2) B,C3RD

(3) D% (4) C3@RD
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65.

66.

67.

Downl oaded From

You have two test tubes ‘A’ and ‘B’.
Test tube ‘A’ contains paste of
turmeric whereas test tube ‘B’
contains  aqueous  solution  of
phenolphthalein. On adding a few
drops of dilute hydrochloric acid to
these test tubes the contents of :
(1) ‘A’ would remain yellow while
those of ‘B” would appear pink.
(2) ‘A’ would remain yellow while
those of ‘B’ would remain
colourless.

(3) ‘A’ and ‘B’ both would appear
red.

(4) “A’ would appear red while those
of ‘B’ would remain colourless.

Anita prepared a fresh solution of
sodium hydroxide in a test tube. She
dropped a small piece of aluminium
foil into it and then brought a burning
matchstick near the mouth of the test
tube. She hears a pop sound. The pop
sound indicates the presence of :

(1) Water gas

(2) Oxygen gas

(3) Hydrogen gas
(4) Aluminium gas

Which one of the following takes place
when water transforms from liquid to
gaseous phase ?

(1)  Size of the particles change.
(2)  Structure of the particles change.

(3) Distance between the particles
change.

(4)  The colour of the particles change.

Which fuel has the highest calorific
value from among the following ?

(1) Coal

(2) Petrol

(3) Diesel
(4) Hydrogen

: http://cbseportal
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64.

65.

67.

U
T UTH & TRt ‘A’ S B E |
wEEE ‘A’ H T BT 9 W ¥, Wate
wEE B’ H et # wed
fieras WRT ¥ | 39 T et § w4
TEEEANE I B FT q& IO W
T W UETY Ut i
(1) ‘A’ ® den wm sEE B’ § et
femrg 3 |
@) ‘A’ ® den @ sEE B H TEE
@ |
(@) ‘A’ SR B’ T & e g

@) ‘A’ o @ m wetE B’ d
T W@ |

AT WETe § |fEad TEIEeEEe S

ar fea dow wwE ¥ 1 9w IE
W T HT TF BT |/ THST

TEe ¥ A mfew # wet gE e

wEe & ¥ % O el € | aw cu

# o A ¥ 1 ‘O @t ET

_ #ufefr @ v Eda St €

(1) “eig

(2) Sl T

(3) EmEEeE

(4) weghatEs i

WE WE e ¥ A W ¥ S
T W TrefafEaa ® ¥ B AW UE
e B 2

(1) 01 % PR § T7e |

(2) U B G H /A |

(3) ol Wi g A ST |

(4) U & T H FEeE |
frfafas § ¥ feg $a= =1 Suig W=
o) Afaw T 0

(1) e
@ g
(3) I
(4) g
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69.

70.

71'

Match the organisms in Column A
with their actions in Column B :

Column - A Column - B
i. Lactobacillus a. Nitrogen Fixation
ii. Protozoan b. AIDS
iii. Rhizobium c¢. Malaria

iv. Virus d. Curd formation
The correct matching is :
i ii i iv

(1) d c a b

€2 d a b ¢

(3) a b c d

4) a d c b

Select the correct statement from

among the following.

(1) Irrespective of colour, all leaves
carry out photosynthesis.

(2) Plants can carry out
photosynthesis even without
chlorophyll.

(3) Plants with green leaves only
carry out photosynthesis.

(4) Photosynthesis takes place only in
leaves.

Reema tells her friend that Ladyfinger

is a fruit. Her friend Shahana disagrees

with her. Which one of the following

statements is true ?

(1) Ladyfinger is a vegetable, hence it
cannot be a fruit.

(2) Ladyfinger is eaten in cooked
form, hence it is a vegetable.

(3) Ladyfinger has seeds, thus it is a
fruit.

(4) Ladyfinger has seeds, thus it is a
vegetable.

Which hormone in our body helps us
to adjust to stress when we are angry,
embarrassed or worried ?

(1) Thyroxine
(2) Adrenaline
(3) Insulin

(4) Estrogen

(22)

68.

69.

70.

71.
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FteT A % ar ®1 e wiewm B ® e
T 37 HTE Q HIAT

HieH - A Hew - B
i. dwdfaew  a. AmEg RO
ii, WY b. TEH :
jii, TrEfaay c. wWaARar
iv. feramoy d. @ ® THA
= e e

i i i v
(1 d c a b
2 d a b €
3 a b ¢ d
@) e ‘dd e b
Freferfiae o ¥ Wt wuw g |

(1) &t i # ofedt s
FEAE |

@) Tt Ffee w erfefa # of
TEHTII-GYAN0 T TFHA € |

(3) Fae & o e de @ we-
HYSUT FT T € |

@) ?ﬁﬁﬁﬁﬁmw grern

|

Frar s g wt ' € e o

wer ¥ | THW TR VETT SEE HWERA

Pt A s s G 2

(1) T o et 8, o 9% WA Al @
[T |

2) Tt g @@ S 8, I T
TH AT |

(3) grérﬁahz’tﬁ%w’maaw‘m

|

@ gt § &tw #a € wiew % o=

FRE |
wa T we E, e A e A R e
TR TR & WEET B aEE
T | T AT 7
(1) i
2) A
3) e
4) TEeH
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72.

73.

74.

75.

-and its utilization in the body occuring

(23)

Match the edible parts of Plants in
Column - I with those in Column - I1

Column -1 Column - II
i. Root a. Groundnut
ii. Stem b. Apple
iii. Seed c. Sugarcane
iv. Fruit d. Carrot

The given choices are :

i TR 1 S |
(1)
()
(3)
“4)

Lol - = i = N
[ = = S -
a0 A
8 oha o

Which one of the following represents
a group of human diseases caused by
virus ?

(1) Measles, Chickenpox, Hepatitis-A
(2) Chickenpox, Malaria, Hepatitis-A
(3) Measles, Polio, Typhoid

(4) Measles, Typhoid, Tuberculosis

Which one of the following represents
a group of autotrophs ?

(1)  Algae, Spinach, Tomato, Banana
(2) Algae, Cuscuta (Dodder), Banana,

Mango

(3) Spinach, Mushroom, Tomato,
Yeast

(4) . Tulsi, Algae, Cuscuta (Dodder),
Mushroom

Human Nutrition includes nutrient

requirement, mode of intake of food

in various steps which are :

A. Absorption B. [Egestion
C. Assimilation D. Ingestion
E. Digestion

Arrange these steps in sequence as
they occur inside the body.

(1) A,B,C,D,E

2 D,E,ACB

3 EDCA,B

4)

D,A,B,C,E
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frafafae & & #i=-a1 feeeg am@ww g
RIS W T AT T & WA B g 2

(1) @u, e, fieEfea-A
(2) Towa, wefE dieER-A
(3) @HY, W, TREES
(4) TE, TEHEE, FAAT

freafafaa & | s fawea @aifvat
% T B A ?

(1) Y&, ares, THR, FHer
(2) o, TRAA (STEWEe), e,

3
TeTeh, B, THRT, A1

o, VoTel, TS (STHEEe),
EEc

3
“)

T G § GiNe qwEt @ Savas,

WA= TR A &t Tl o v o Tweer
IugrT fafir T § far g, S
A. @I B. Fresmm
C. @ ritwor D. et
E. UeH
T WO H SHHH W e e mu w R
AR
(B 1 ABE,DE
2) D,E,ACB
(3) E,D,C,AB
4 D,AB,CE
-
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Which one of the following is not a
conductor of electricity ?

(1) Vinegar

(2) Lime juice

(3) Salt water

(4) Distilled water

Medium A is optically denser than
Medium B. Which one of the

following statements is true ?
(1) Speed of light is more in medium
A than in medium B.

(2) Speed of light is more in medium

B than in medium A.

Speed of light is same in both A
and B.

Cannot be compared.

©)
C))

We are not crushed under the weight
of atmosphere, because :

(1) the pressure inside our body is
more than atmospheric pressure.

(2) the pressure inside our body is
more than atmospheric pressure
and cancels the pressure from

outside.

the pressure inside our body is
less than atmospheric pressure.

the pressure inside our body is
equal to the atmospheric pressure
and cancels the pressure from
outside.

©)

(4)

A block of iron dropped in a vessel of

water, sinks to the bottom. This is

because :

(1) the vessel is not deep enough to
allow the block to float.

the weight of the water displaced
by the block is less than the
weight of the block.

@

(3) the weight of the block is less than
the weight of the water displaced
by the block.

(4) the density of water is more than

the density of the block.

24)

76.

77'

78.

79.
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Which one of following statements is

incorrect ?

(1) A drum vibrates with a low
frequency, therefore it produces a
low pitched sound.

(2) A whistle has a high frequency

and therefore it produces a sound

of higher pitch.

(3) Generally the voice of a man is

shriller than that of a woman.

A bird makes a high pitched

sound whereas a lion makes a

low-pitched roar.

4

There are two planets in our solar
system which rotate from east to west.
These planets are :

(1)

Mercury and Uranus

(2) Venus and Uranus
(3) Mercury and Venus
(4) Uranus and Neptune

The major excretory product in
human beings is :

(1y" Wrea

(2) Ammonia

(3) Uricacid

(4) Ammonium chloride

Which of the following process/
processes destroy / destroys the
magnetic properties of a bar magnet ?
A.  Cutting into two pieces

B. Heating
C. Beating
D.  Sealing
(1) Only A

(2) BandC
3) A,BandC
4. AandD

(25)

.con

80.

81.

82.
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An eighth class student makes the
statement :

“Heavy objects sink in water and light
objects float” How is the science
teacher of the VIII class best advised to
react ?

(1)  Accept the statement as it indicates
child’s ideas and needs to be
respected.

Explain to the child that it is not the
weight but the density of an object
that determines whether it is going

2

to sink or float.
(3) Present counter examples and
arrange materials of  different

shapes, sizes and weights for the
child to investigate.

Explain that heavy and light are
relative terms.

(C))

Which one among the following
situations gives the students, the best
opportunity of ‘discovery learning’ ?

(1) Students being first shown the
demonstration of germination of
seed followed by a detailed
explanation.

Elaborated and detailed session of
programmed instruction on the topic
of “germination of seed”.

(2)

(3) Encouraging students to investigate
factors  affecting  germination
through experimentation.

(4) Instructing students through team
teaching on the topic of

‘components of food’.

A teacher places a lighted candle on the
table in the classroom. He later covers it

with a jar.

A. The candle stops burning after
some time.

B. Air is required for keeping the
candle burning.

C. Oxygen is required for keeping
the candle burning.

Of the above three statements :

(1) Only statement A is an observation.

(2) Statements A and B are observations.
(3)  All the statements are observations.
(4)  All the statements are inferences.

(26)

84.

86.
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P-II
87.

89.

(1)

Which one among the following questions
would be an ‘open ended’ question ?

(1) Why do we slip on a banana peel ?

(2) What would happen if force of
friction ceased to exist ?

(3) Why is it easier to roll a barrel
than to slide it on a flat surface ?

(4) How do banked curves on roads

prevent skidding ?

Which one of the following statements
is true about the ‘laws’ and ‘theories’
in science ?

Laws are generalized descriptions
of the relationships among
observable  phenomena  and
theories are explanations for the
observable phenomena.
Theories become laws
validated.

“Theories’ are found in biological
sciences only and ‘Laws’ are
found in physical sciences only.
Theories and laws are the same
and perform the same function
except that laws are briefer form
of theories.

when

)

3

@

A science teacher wishes to assess her
students on different process skills.
Which one among the following tools
would be the most appropriate for her

purpose ?

(1) Interview

(2) Questionnaire

(3)  Observation schedule
(4) Paper-pencil test

Which one of the following should not
be an aim of science education at

upper primary level ?

(1) Relating science education to
everyday experiences of learners.

(2) Nurturing the curiosity and
cultivation of scientific temper.

(3) Inculcating values

(4) Presenting facts of science to the
learners.

27
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